
 ا�عداد الكسرية 

 

 التمرين 1

: قارن ا
عداد التالية   

7

9
و     

7,4

9
       ,,       

4

100
  و 

40

100
        ,,    

18

17
  و  

18

17
 

59

18
 و  

10

3
      ,,    

3

5
 و  

7

10
         ,,  

2

100
 و  

19

1 000
 

6,5  و 
13

2
           ,,  

9

4
2  و              ,, 

5

6
و  
2

3
             ,,  

1

2
 و  

3

4
 

 

 التمرين 2

: ختزل ما يلي أ  

27

18
    ,,    
42

16
   ,,      

12

144
      ,,     

465

225
      ,,   

63

27
 

812

456
       ,,   

2006

206
      ,,  

225

360
      ,,   

121

165
     ,,  

12

144
 

 

 التمرين 3 

: أحسب ما يلي   

40

100
 - 

4

100
          ,,  

1

6
 + 

5

6
       ,,   

27

13
  -  

15

13
       ,,    

94

29
 + 

6

29
 

5

10
 + 

6

10
        ,,    

754

231
   -  

157

231
        ,,   
7

8
 + 

7,4

8
       ,,  

6,2

10
  -  

2,8

10
 

 

 التمرين 4

:أحسب ما يلي   

1

2
  -  

1

4
    ,,    

1

2
 + 

5

6
    ,,      

3

10
 - 
1

2
      ,,      

5

4
 + 

7

2
  ,,          

2

3
 -   

1

6
 

17

7
 – 2         ,, 

5

3
 + 3,5           ,, 

5

9
 + 

1

3
      ,,      

7

12
 + 

5

3
       ,,    

10

18
 – 

1

6
 

 

 

 

 

 

 



 التمرين 5

7

2
 + 

5

2
 -  

9

2
         ,,     

13

12
 -  

1

12
 + 

5

12
         ,,    

7

3
 – 

2

3
 + 

4

3
 

19

4
 – 






1

2
 – 






3

8
 – 

1

4
         ,,     

1

2
 + 

5

4
 + 

7

2
       ,,    

5

2
 -  

11

18
 +  

5

3
 

24

15
 – 






2

3
 – 






11

5
 – 2          ,,  

7

2
 – 2 – 

4

6
 – 

1

12
     ,,   1 – 







25

42
 – 

2

7
+ 

5

3
 

 التمرين 6

: أحسب ما يلي   

7

6
 × 

1

4
       ,,    

11

4
 × 

9

13
      ,,   

5

7
 × 

6

5
         ,,    

13

2
 × 

2

19
 

6

7
 × 1,4 × 

5

7
       ,,    

10

9
 × 11 × 

3

2
      ,,    

4

5
 × 5     ,,      9,3 × 

4

25
 

 

 

 


